DIvISION WITH A REMAINDER II (H - SET 3)

DIVISION WITH A REMAINDER zaje Seomer |
i) 38112 + (—4) = w0 2851 + T =
632) —14252 <+ (—4) = 647 —H4684 = 6 =
633) —36254 — 5 = 618) —34569 = 9 =
631) —37433 -4 = 610) —1770 -1 =

635 —T76056 +~ (—8) =
636) —31480 =+ (—6) =
637) 88009 + 9 =

635 41368 + (—5) =
639) 26624 = 5 =

610) 7448 + 4 =

61) 9304 + (—=5) =
612) 256347 + 10 =

643) 26232 + (—3) =
61)  —46455 + 6 =

615) —21289 = 10 =

Mathematics: Division - Level 8 - Horizontal - Set 3
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12307 = (—2)

2467 =9 =

—33633 = (—5)

31408 = 5 =
25608 + (—4)
—39186 + 4 =

63193 + 10 =

0132 = (—8) =

10580 + (—8)
—13175+2 =

18821 =+ (—7)
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